Rird WARZVEFEBLHERELTHRAML 24055 |7
“ste mne (aErELs] Y

B EREE
BEEE - 485y BEEE3Y - BEETE -

1. EHERETRE ARE GDP EE B)%H GDP REE OBRFERES D)THEH
BRER EFSENERABRER

2. YRR AR — TG 2R NG AT EEER -
EEAE SR E TR A AR O SRR BRSO HIETHEE ? A)ZS SIS B)
Y C)RERSZ A D) kR

3. FEEREM=N=ETAE A)SE B CHAK D)RE

s BRREERTER . SEBNBCEERER SRR/  ABRX
HUBT > SEEE > BR BERFZHIEN > Wi 2RRS OBBRS > B
91N > WD) BUSSTHIENT > BIRES = W

5. IEMEEA TR - TOUTHER ? AR afE 2R DEEETESE OREIRT
FEKE 2R D ERAIR I

6. RELBHEHTHHBEN TR ? AVRSHIEASE BRI K OBHIELSE D)
TEIRIELRSE EYSIXEIRT A K Seat

7. EAEIIER - FIRSRES AR - B AJAPC @427 B)APS @7 )R BURFHE D)
(RY TR G MBS R

8. AMBTESE @ TIISCRTEER ? A F—ERR BEH—WRREE OFf—
BB DA R R

9. {R—BYRETHER Y=C++G+X-M, C=Cotc(Y-To-tY), X=XotaY*, M=MotmY, Y*SES 15 -
TR HEA ST ER 5 R ? AFS EFHEBCETIR DER SRR O
RS R SRR » SECIRIRIET - SGECISARENT DB IR IS
PR - BRMEEEE MR

10. FHUTEFRESBESE GNP I ? AVBASSHICFES A BYSAEHAZRE &
BB O R E A SRR SR D) SRR R A TS
YEA FHER — LB E) S BB R R TR se i A TE SR

1. FHIARA BTN BRI R T E AR ? ARITEREEIE - BT
BTEEART - BABRERN OfTEE EE/MEERE T a2 S hi TR
4 D)7 B ASMER SR E P S AR

12. ZEREEHUERTIEAI T AIMPS /NR— BYREERTAEEERTE CMPC BEFTSEE) DR
ST |

13, TR FEAREETTEVYE ? ABRABYE LE B EETaflamsi
EEIEE OROBUARIHEESRARES DLOEERETREES

14, IR AEARAES - TOMERAE? ARKEA BEEER - ESRFHH OB
B F DB TR R EEIR

15, SEEEEMERE VEEBIERE BT RHRER O)S WRESR RIFHREEE D)
OISR B SR




BarfP LRLBEFEBALHEBAEFRARE 2475525
#8@Ee [~rsratr]

16. EREAEERYRKR - RERREENTE

BY Eidild

Bt B= B BE
2000 10 200 20 300
2001 12 220 | 22 250

1L 2000 FEEREEHA - R 2001 FABHERRK g A)0<g<5% B)5%<g C)-5%<g<0 D)-5%>g

BHy - (HERRSHE
B3 - 425 - BHERERS - BEERET -

1. Suppose demand is given by Q¢ =300-5P and supply is given by Q° =10P. If the
government imposes a $25 price floor, the excess supply will be
A) 25 B) 50 O 75 D) 100

2. The elasticity of démand for Colgate toothpaste is likely to be the elasticity of
demand for all toothpaste.
A) more elastic than B) less elastic than
C) the same as D)less negative than

3. Suppose the cross-price elasticity for two goods is negative. The two goods are
A) normal goods B) substitutes C) complements D) inferior goods

4. Suppose John is planning to join a book club. Membership in the club will allow John to
purchase books for half price. Normally books cost $10. If John has an income of $200, the club
membership fee is $50, and we plot the number of books purchased on the horizontal axis and a
composite “other goods” which have a price of $1 on the vertical axis, the slope of John’s
budget line after joining the club willbe
A)-10 B)-5 C)-2 D) -1

5. Consider the utility function U =min(2x,y).If x is on the horizontal axis, the indifference
curves for this utility function will be
A) L-shaped B) upward sloping  C) vertical D) horizontal

6. The substitution effect is
A) the change in the amount of the good consumed holding the level of income constant.
B) the change in the amount of the good consumed as the price of the good changes holding
income constant.
C) the change in the amount of the good consumed as the price of the good changes holding
utility constant. _
D) the change in the amount of the good consumed holding relative prices constant and

changing the level of income.
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Suppose in a market that market demand is Q“ =100—P and market supplyis Q° =3P .If
the typical firm in the industry has STC =200+Q+40* and SMC=1+ 80 , how many units
should the typical firm produce to maximize profit?

A)2 B) 3 C)4 D)5

Consider a market with Q7 =200-10P+7 and Q° =5P. Suppose that initially income is
I'=25, and that income then increases to [ =55. What is the increase in consumer surplus

from this increase in income?
A) 320 B) 240 C) 80 D) 160

Identify the truthfulness of the following statements.
L. A firm decides to rent a computer for $300 per month. This is an example of a fixed cost but

not a sunk cost.
IL. A firm decides to purchase a computer for $1,500. This is an example of a fixed cost and a
sunk cost.
A) Both I and II are false.
B) Both Iand II are true.
C) Iis true; IT is false.
D) Iis false; II is true.

Suppose a monopolist faces demand P =300-60Q and has marginal cost MC = 120+6Q
What price should this monopolist charge to maximize profit?
A) 120 B) 180 C) 210 D) 240

A public good is a good

A) that is produced by a government agency.

B) that is available to government workers only.

C) that benefits all consumers, even though individual consumers may not pay for the costs of

production.
D) whose production and/or consumption affects a third party.

Suppose that a particular plant emits a chemical that pollutes the ground water. Without
considering the effects of the pollution, the firm has a marginal private cost curve of
MPC =20 +30. The firm faces a demand curve of P =60-Q. If the firm were to incorporate

the costs of the pollution, the firm would have a marginal social cost curve of MSC =40 +30.
What is the value of an optimal emissions fee that would achieve the socially optimal level of
output? :

A) $54. B) $32. C) $12. D) §10.

Consider the Cobb-Douglas production function Q=25K JL . The average cost function
associated with this production technology will exhibit

A) economies of scale.

B) diseconomies of scale.

C) neither economies nor diseconomies of scale.
D) indeterminate scale economies since the level of output and the prices of the inputs are

unknown.
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14. Suppose that a particular plant emits a chemical that pollutes the ground water. Without
considering the effects of the pollution, the firm has a marginal private cost curve of
MPC =20 +30. The firm faces a demand curve of P=60-0 . If the firm were to incorporate

the costs of the pollution, the firm would have a marginal social cost curve of MSC =40 +30.
What is socially optimal price?
A) $6. B) $50. C) $10. D) $54.
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1. Differentiate the following functions. (25%) -

. 1
L fO= (“‘r—z‘)3
ii.  f(2)=(cos2t)?
L F(x) = n SR%
X
iv.  Find dy/dx where cos’ x +cos® y = sin(x + y)

V. Find the differential dw - where w = exp(—x* — 3%).

2. Evaluate the following integrals. (40%)

i [xdx?+9dc i [sinax + e i ! i/idx iv. [xe™dx

X

) 12
V. J. e > Vi J'i vii. fszeydxdy
Gx+D(x +1) Jsx+2 )

1
“ee - 2 . . .
viil, f e™" dx (hint: use power series to approximate)
0

3. Find the Taylor’s 4™ degree polynomial for f(x) = In(1+x) at a=0 with the

remainder. (10%)

4. Evaluate the following (10%).

i. Determine Whetherz

n=] 1

converge.

: Inx
ii  Find hm
\/_.

X—>c0

2
5. Graph the function f(x)= sz +

. - Please identify all extrema, inflection

points, intercepts, and asymptotes. Show the concave structure and the behavior

of the graph for [x] large and for x near any discontinuities of the function.

(15%)
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2 ¥ o % oy # 33k (alternate hypothesis) & T #8i8 40%ey

ZAEBELRCR O HRBEARHEEBR X (XRBEBER) E
SREEIRT P%ﬁ%ﬁ\#xl\#@éﬁ et [ AR2 5 4]

A)Hg: P < .40
B) Hy: P < .40
C) Hy: P # .40
D)Hg: P = .40
E) Ho: P < .39

THMAERBCAFEARETHIMNRABDE? [ A8 10 4]

A)EZFBREEZLFHEAZISL  BROAUHTREE
MEBEHNCRERERRTAM?

B)CXMREXBRTTURBEATHEA R H 47

OHBEIR RENMSGHRTRATHIBRRELI LAY
BE?

D)XaAstE (& ¥ &) ATERAERMHE (H
5P KREMR BEHEAMMEE ?

E)AMBA AU ERERPETRELMO IS EE?
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5. 22548 XA Yz EMRM (R4 Pearson’s
correlation) » BRI T A H AR & R 62 B4 7
[ A2 10 ] | '

AXHYMEABENSA ( categorlcal variable » & % &
%38 )

BYX# YHELAEXRFEE ( ordinal variable)
C)Y 48 & 4 35 4 1A (interval variable)
DY /F A% ¥ 3E (ratio varlable)
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7. Mayor Wang wanted to compare the safety effect of two types
of traffic lights (A and B). 32 A4 lights and 32 B lights were
randomly installed on 64 streets,-with 1 light on each street. -
That is, each street was installed either light A or light B, but
not both. The number of traffic accidents on these streets
was then recorded for 8 months.  After that, the mayor asked -
his statistician to comparée the number of accidents on the two
groups of streets. What statistical test (or tests) below is
(are) most suitable to test the difference between these two -

groups? [ABERTHE § 104]
A) Chi-square test

B) t-test
C) F-test
D) z-test




a B P WALIBLEFALHBALMRRBE 237537
. #B &% [2EAELIECE]

8. Spiderman feels that he can win the Bravest Hero election. A
random sample of 1,000 voters showed that 520 of these voters
favored his election. Assuming that the population is infinite,
what is the 95% confidence interval for the percentage of
votes that Spiderman would get in the election? [ %8 20 4]

9. It is true that Type I and Type II errors always add up to a
constant? Please briefly explain your answer. [ &% 10 %]
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ZogBELTAEZES (25%)
1. urban fragmentation
2. regional governance
3. backwash effects
4, glocalization
5. urban regeneration strategy
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1 ~ Please discuss the significance of internationalization / globalization to the
development of the city / region in Taiwan that you are familiar with. (33%)

2 ~ Please discuss your knowledge about public affairs management or other related

fields that you are familiar with. (33%)

3 ~ Please discuss your preparation for studying abroad, including language, area of
study, field (domain) knowledge, and financial matters. (34%)

Please answer the above questions in English.
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